
Ascent Charger
Ascent Series



Green Furniture Concept

Index

Module

Components of Ascent Charger 

Recycling of parts

Parts    Ascent Series Charger

Assembly instructions     Ascent Series Charger

p3

p4

p5

p6

p7-8



3 Green Furniture Concept

Ascent Series Add ons

Ascent Series Charger
Metal frame table with a wooden top.



4

Components of Charger

Green Furniture Concept

01. Bracket Clip. Attaches the bracket to the beam with M8 screws.

02. Add-On Bracket. Attaches to the charger frame using M8 screws.

03. Steel Frame, with separate parts.

04. Phase Charger. Attaches to steel frame.

01

02

03

04 03



5 Green Furniture Concept

Recycling of  parts

Aluminium parts:

The beam, seatbrackets, butterfly insert and the 
bracket clip are made from aluminium and should be 
separated from the product and recycled as aluminum.

Electrical parts:

Electrical parts should be separated from the product 
and recycled as elecrtrical waste.

Steel parts:

The legs are made from steel ans should therefor be 
separated and recycled as steel.



6 Green Furniture Concept

Stadium_Charger1_Frame
x1

Phase Charger
x1

Nut M6
x1

Stadium_Addon_Braket1
x1

Screw M8x25 ISO4762 
Class8.8 FZB Tuflock Grey

x4

Stadium_Bracket_
Clip_45mm_Wide

 x1

Parts
Ascent Charger



7 Green Furniture Concept

2

4

5

1

3

6

Euro Screw

Attache the plate of the Phase 
charger to the metal frame using 
the Euro screw. Make sure that the 
side with one screw is not to tight.

Lock the charger in place by 
puchin the small plastic clip in to 
the gap on the back of the charger.

Place the loose part of the frame in 
place to fix the cable. 

Use the screws in the steel frame 
to attach the backside of the frame 
after the charger is attached.

Place the cable from the carger in 
the frame.

Attache the Phase Charger to the 
plastic plate by first place on edge 
in the right possition and then fold 
it in place.

Assembly instructions
Ascent Charger



8 Green Furniture Concept

8

11

7

10

9

Use the M6 Nut to attach the add 
on braket to the charger frame.

Attach the add on bracket to the 
beam by using the bracket clip and 
the M8 screws.

Connect the carger to the cable 
system in your module.

Slide the charger on to the beam 
and tilt it to get it in to the right 
position.

Assembly instructions
Ascent Charger

6

Use the Euro screw to fasten the 
loose part to the frame.


